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© <50 Oty > MESAILt 8FFAIC UAAHYE o&sts HEE 7IHH22 45 O0tE

DOW30 19097.90 (-0.28%)
NASDAQ 5368.81 (-0.56%)
S&P500 2201.72 (-0.53%)

NIKKEI225  18656.89 (-0.13%)
SHANGHAI 3277.00 (+0.46%)
FTSE100 697747 (-0.60%)
DAX30 10582.67 (-1.09%)
CAC40 4510.39 (-0.88%)
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S=z/948 10607 (+0.0019)
Sz/ 11890 (-0.82)
EIAL 112.10 (-0.96)
SHe{/9Iot 6.9042 (-0.0126)

me /e 1.2417 (-0.0060)
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WTI 47.08 (+2.2%)
COMEXZE  1193.80 (+1.1%)
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[AnO  1978.13 (+0.19%)
AL 593.05 (-0.80%)
fl/ety  1170.40 (-7.00)
KTB 109.29 (+0.24)
LKTB 125.42 (+0.49)
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CD(91d) 1.4900% (+0.01bp)

[=2Aj]

ly 1.6810% (-4.20bp)
3y 1.7480% (-7.50bp)
Sy 1.9120% (-5.50bp)
10y  2.1400% (-4.50bp)
20y 2.1940% (-5.60bp)
30y  2.2090% (-5.60bp)
50y  2.1960% (-5.60bp)

[S2txH]
ly 1.6790% (-4.50bp)
2y 1.7570% (-6.80bp)

7. 2 A%t ATpE

1Y -16.90bp (-0.75bp)
2y -21.70bp  (+0.55bp)
3y -16.80bp  (+0.75bp)
5Y -27.20bp(  -0.50bp)

10Y  -37.00bp (-2.00bp)
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1Y 1.5100% (-5.25bp)

2Y 1.5400% (-6.25bp)

3y 1.5800% (-6.75bp)

5Y 1.6400% (-6.00bp)

7Y 1.7000% (-6.00bp)
)

10Y 1.7700% (-6.50bp

12Y 300 (-1.00bp)
2*3Y 400 (-0.50bp)
2*5Y 1000 (+0.25bp)

3*5Y 600 (+0.75bp)
5*7Y 600 (0.00bp)
5*10Y 13.00  (-0.50bp)
*CRS 22|

1Y -16.90bp  (-0.75bp)
2y -21.70bp  (+0.55bp)
3y -16.80bp  (+0.75bp)
5Y -27.20bp  (-0.50bp)
10Y  -37.00bp (-2.00bp)

(& 2l]

“Of2|le E2b7| ECB X ‘27t HTUHER JSW ECBO| &=t 2o M2 X[&Hstes BH =50 =
Qst A7) |1 ULk
- 'REE ZRAS0| BHME VUS| flE BA S sfof otoi' Ol= 2AsHHOl SeEM BsdS

soltn F3

Fop Rl Ry 'pletsts MA StH MAGM TS| HEHOl ZME LEE §ES 2Tt

- ZEE EIUL O S0 SUHE o|F 2ltst Fot S0t &Y 720 S5 A2l AL
of ghE0f Ofjsl ths2 A 4 28

- ©2 OfH| fletste] HE g0l M3l A2 =EE EHZO O/ IE8d 4, % 7|82l 2d 7ts4d
S, 2EYMAE, O|HELRES IIE 5 2722 0|2t &4

- '?iet=tot &8 CE| 7HX= Bk EO{RX|Z O Fot=2 CHE S0 Hg) diifez XHitn X




HS <2016 118 29 Al=h>

o

CUBE FANE AX. B2l A BEY 2 BEp

FRYs "I oY, FUAZO| W A

ok "W 2 37 4d2 o

[

-7l MM Dloh FEMY 27 K"

* 31 3 135X 1.755% (-5.6bp) H&..S& 473=%

*

7 At 2

-3 AREIE RO S0l
a2iLt oje Ekso|# 7t 27t

2tn o}

- ol CfE3 Ereol

s
0| 2Xt= 29

i
m om

27t L2 X2, 1 O|HNX|= &0l HetHo|

N ML S22 0|0 7tsd0| M= oAk Lhg. =l MAFA =

n>

*RUdE MY ZEELR =H."SAH

rlo

S| SO

=i

“ELS 22t &Xp NCE2 I TCE. AZHEE AL of F3t

S3Y oY x| E

[A82] TN Fed £0I3 o)
CEENEREER R
(ME THe 9 O[At

(Y2 2(BOE) &E=2]

rQ

0] =2-387| GDP (0f4A:3.0%, 0|X:2.9%)
9% 20CH CHEA| ZEHZFZX|2(YoY) (O AH:5.2%, O]:5.1%)
119 AH|XFAIZ|X|4 (0 AH100.0, 0|F:98.6)
QU102 ADTHOH(YoY) (O Ak-1.2%, O] :-1.9%)
109 7HA|X|Z(MoM) (0] Ah:0.1%, O|F:2.8%)
-109 AIE (0 AH3.0%, O|F:3.0%)
=2-118 CPI(MoM) (0| AH0.1%, 0|F:0.2%)
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